

Maisonette in Pembroke



Pembroke, Sliema and St Julians Surroundings



€535,000

Reference No: 240231027-219

 Total Rooms: **7**

 Floor Area (m²) : **139**

 Bathrooms: **2**

 Bedrooms: **3**

Maisonette - For Sale - Pembroke

PEMBROKE – ELEVATED MAISONETTE situated in a new block in one of the best areas, close to all amenities. The layout comprises a spacious open-plan kitchen/living/dining area leading to the front balcony, a store room, a bathroom, 3 double bedrooms (main with en-suite), and a backyard ideal for entertainment. This property is being sold freehold, fully finished including doors and bathrooms, with completion scheduled for December 2027. For viewing or more information, kindly get in touch with your preferred RE/MAX property consultant.

Features

- ✓ Lift
- ✓ En Suite
- ✓ Balcony
- ✓ Back Yard

Rooms

- ✓ Kitchen/Living/Dining : 5.72 x 6.07 m (34.72 m²)
- ✓ Double Bedroom : 3.38 x 3.34 m (11.29 m²)
- ✓ Double Bedroom : 3.2 x 4.73 m (15.14 m²)
- ✓ Double Bedroom : 3.37 x 3.35 m (11.29 m²)
- ✓ Bathroom Ensuite : 1.72 x 1.94 m (3.34 m²)
- ✓ Bathroom : 2.65 x 1.6 m (4.24 m²)
- ✓ Box Room : 1.81 x 1.6 m (2.9 m²)
- ✓ Open Space : 3.9 x 6.57 m (25.62 m²)
- ✓ Open Space : 1 x 5.72 m (5.72 m²)

Gallery





Rimels Muca

RE/MAX Centerparc - Qormi

M: 99964410

E: rimels@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta